PWM (positional weight matrix):
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consensus sequence: TGATAA

4/6
0
2/6
0

0.33 0 1 0 0.67 0.67
- 0 0 0 0 033 0
- 0 083 0 0 0 0.33

0.67 0.17 0 1 0 0

PSSM (position-specific scoring matrix):

counts:
A2 06 0
C 0 0 0 O
G 0 5 0 O
T [ 4 1 0 6
= pseudocounts:
A3 1 7 1
C 1 1 1 1
G 1 6 1 1
T |5 2 17

= PSSM:

A 0.26 —1.32
C —-132 -1.32
G —1.32 1.26
T 1 —0.32
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assuming g, = 0.25 for all a

log(pai/qa) = log((15)/(%)
= Iog(l—l0 -4) = Iog% ~ —1.32

Iog(% -4) = /og% ~ —0.32
log(3; - 4) = log & ~ 0.26
Iog(% -4)=log2=1
Iog(% -4) = /og% ~ 1.26
Iog(% -4) = /og% ~ 1.49

1
—1.32
0.26
—1.32



sequence logo heights:

height of a at column i is: p,j - E(S;) = pai - Y, Pai - log(pai/da)

heights:

I ESNQIB

-1.26 4+ 3 - (—0.32) ~ 0.428
- (~1.32) ~ 0.647

1—} Iog5 + 10 log5 + 10 /og5 + 10 Iog2
~ 35" -0.26 + X 16 (= 1.32) + 2 16 (— 1.32) + 2 161
=~ 0.31
~ glo -1.3 )1 . (—1.32)1+ < X
~ 75 - 149+ 15 - (=1.32) + 75 - (=1.32) + 15
= E(S3) ~ 0.647
= E(S51) =~ 0.314
= E(S1) =~ 0.314
E(S51) ~ % -0.314~0.09 paz- E(S2) = % -0.428 ~ 0.04
E(S51) ~ i 0.314 2 0.03 pca2- E(S2) =~ i -0.428 ~ 0.04
E(S1) = P 0.314~ 0.03 pg2- E(S2) = i 0.428 ~ 0.26
E(S]_) ~ 10 0.314 = 0.16 PT2 " E(Sz) ~ 10 " 0.428 =~ 0.09
0.09 0.04 045 0.07 0.16 0.16
0.03 0.04 0.07 0.07 0.09 0.03
0.03 0.26 0.07 0.07 0.03 0.09
0.16 0.09 0.07 045 0.03 0.03



